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Model comparison. Akaike’s information criteria (AIC), Bayesian information criteria (BIC), and the accuracy to predict the animal’s actual choice (leave-one-out cross-validation; % correct) in the TAB task are shown for different models. MeanSEM across animals.
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D1 D2 D1 D2 D1CNO | D1DMSO | D2CNO | D2 DMSO
Model 1 ap 84942156 | 977.5:193 | 859.8:156 | 988.12193 | 73.79:7.4 | 77.9126.7 | 74.03:85 | 75.49:7.4
Model 2 aB, Ve 1322.6:242 | 1579.84283 | 1338.1:242 | 169682283 | 74.93:7.0 | 78.8716.6 | 75.0038.2 | 76.25:7.3
Model 3 ""';_' :,'"l' 133822242 | 1578.2:285 | 1358.92243 | 1509.5:285 | 75.18:7.0 | 78.936.6 | 75.06%8.2 | 76.26%7.3
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Model4 | a, B, V,, WS, LS | 1268.12260 | 1519.0:295 | 1284.02260 | 1545.6:296  76.3427.0 | 79.8016.5 | 75.90%7.8 | 77.14%7.2
Model 5 “P;":sﬂ_f& P | 12682:250 | 15192206 | 1289.3:269 | 166112296 | 7653467 | 79.69£656 | 75.96£7.8 | 77.16:7.2
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Model 6 125572260 | 151512297 | 1297.12260 | 1557.74298 | 76.69:6.8 | 80.03£64 | 76.15%7.8 | 77.37%7.1
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